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TransCanada Cost lmpact Analysis - Longhaul vs. Shorthaul

Contract
Quantity

Contract filed to the OEB:

Enbridge: Niagara to EGD CDA (incremental shorthaul) 30,000

Union: Empress to Union EDA (decontract longhaul) (10,000)
Empress to Union NDA (decontract longhaul) (10,000)
STS to Union EDA (decontract shorthaut) (10,000)
Parkway to Union EDA (incremental shorthaul) 20,000
Parkway to Union NDA (incremental shorthaul) 10,000
Niagara to Kirkwall (incremental shorthaul) 21,,101

Union: Overall impact (displacement of longhaul to shorthaul)

Unlon revised contract fillng to OEB:
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Union: Niagara to Kirkwall (incremental shorthaul)

Other scenarlos:

Empress to EGD CDA (incremental longhaul)

Empress to EGD CDA (decontract longhaul)

Empress to EGD CDA (decontract longhaul)
Niagara to EGD CDA (incremental shorthaul)
Overall impact (displacement of longhaul to shorthaul)

21,101

30,000

(30,000)

(30,000)
30,000

Assumptions:

followingthecurrentapproved200T-2QllMainlineSettlement. Actual lnterimTollshavebeensetat2010levels.

to Annual Cost lmpact Annual Cost lmpact
Eastern Zone to remaining to remaining Ontario Market
Toll lmpact Mainline shippers Mainline shippers

Empress to Annual Cost lmpact Annual Cost lmpact
Eastern Zone to remaining to remaining Ontario Market
Toll lmpact Mainline shippers Mainline shippers
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